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void InitADC12(void)
{
P6SEL |= BITS5; /1 & PEIOTEE NADC I ASHE H il iE
Il FF )5 ADC12, 1% B K H PRI [a]
Il % E 2 A KR

ADC12CTLO = ADC120N+ADC12SHTO_8+ADC12MSC;
IGE P8 FOR PR R I 4, e i Ui 8- P 81 I 22 TR 45 5
ADC12CTL1 = ADC12SHP+ADC12CONSEQ_3

ADC12MCTL3 = ADC12INCH_5 ; I PR 4 N 18 1
ADC12IE = BIT5; Il TP {di i ADC12IFG.5
ADC12CTLO |= ADC12ENC; Il ¥R VT
ADC12CTLO |= ADC12SC: I F 6 KA 5 e
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MWMGEE FRIBEHEER | RESEENEEE
#pragma vector=ADC12_VECTOR//*h Lﬁiﬂzhﬁ
__interrupt void ADC12ISR (void) //ADC12%4 I phi %
{
static unsigned char index = O; int i,

AS5results[index] = ADC12MEMS5; //3k BSR4 21 1F) B R 4E
index = (index+1)%Num_of Results;
if(index == 0) //ZRHLPY IR f#)-~F- 35 L
{ for(i=0;i<4;i++)
tem += A5results]i];

11 AR SR A5 AR A e BEL A PRI AR

tem = (int)((tem*3.3*10000)/4095/4): ‘

IS LR, IR EIFAELCD ERoR

Write_Temperature(getT(tem));
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HTALR P ik FESMCLK, ZES: 5, ERTAR
TALCTL = TASSEL 2 + MC_2 + TACLR,;
I ETH ¥, R, W ERPOEECCIIA, IR,

TR 3 H BT
TA1CCTL1=CM_1 + SCS + CCIS_0 + CAP + CCIE;

o ERIZZTBOI 5L (ERTLS)

TBCCTLO = CCIE: /IR E I 25 by

TBCCRO = 32768-1;

I ik FEACLK (32.768kHz), i i+ #2754
TAR ‘
TBCTL=TBSSEL_1 + MC_1 + TBCLR;
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#dtagma vector=TIMER1_Al VECTOR//5E K #5TAL.1 3 i bt
__interrupt void TIMERL_A1_ISR(void)// B kb 4 bk %
{
TALCCTLO &= ~CCIFG; /i Wrkr L7
s++; /I IR 2 ) _E AR TR
}
#pragma vector=TIMERBO _VECTOR//5E I £$ TB T Wit ik
__interrupt void TIMERBZL_ISR(void)// 7 &b £% %5
{
count = s;
Write_Data(Get_HR(count));//4fi 3k 21| b -5 5 108 B A2 54 /i
RHATEHE, ®AAF2EEEIFEled L EIR;
count=0;
s=0;
TBOCCTLO &= ~CCIEG: /3% % th Wiz & s ‘

}




